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Ongelijknamige breuken groter dan 1 op elkaar delen

Breuken

Oefening 1 Oefening 2
5 3 5 8

1. 5— : 4— = 1. 9—  2— =
6 9 8 9
3 3 5 8

2. 11— ¢ 1— = 2.6— ¢ 1— =
10 6 6 9
8 8 14 8

3. 88—  8— = 36— ¢ 2— =
10 9 18 9
7 3 14 6

46— ¢ 1— = 4. 66— 55— =
10 6 20 10
7 3 7 4

5 8— 5— = 5 8— 8— =
8 5 10 5

Oefening 3 Oefening 4
4 7 7 5

1. 3— ¢ 2— = 1. 4— . 2— =
6 9 9 6
7 4 14 9

2. 99— 3— = 2. 4— 2— =
8 7 20 10
6 5 4 8

3. 9— 1— = 3. 9— 3— =
10 9 6 9
6 5 5 4

4. 4— 3— = 4. 4— 2— =
12 6 10 6
8 5 9 16

5 9— 9— = 5 5— 2— =
10 6 10 20
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Ongelijknamige breuken groter dan 1 op elkaar delen |

ANTWOORDEN

Breuken

Oefening 1 Oefening 2
5 3 9 5 8 69
. 5— : 4— = | — . 9— : 2— = 33—
6 9 26 8 9 208
3 3 13 5 8 3
21— ¢ 1— = —— 2. 56— ¢ 1— = 3 —
10 6 IS 6 9 34
8 8 99 14 8 9
3. 88— ¢+ 8— = — 3. 66— ¢ 22— = 2 —
10 9 100 18 9 26
7 3 7 14 6 i
46— 1 1— = 4 —— 46— 1 5— = | —
10 6 IS 20 10 56
7 3 131 7 4 87
5 88— : 5— = | —— 5 8— ¢ 8— = —
8 5 224 10 5 88
Oefening 3 Oefening 4
4 7 8 7 5 35
1. 3— ¢ 2— = I — 1. 44— 22— = | —
6 9 25 9 6 51
7 4 153 14 9 18
29— : 3— = 2 — 2. 44— ¢ 2— = | —
8 7 200 20 10 29
6 5 6 4 8 I7?
39— ¢ 1— = 6 — 3. 99— ¢ 3— = 2—
10 9 35 6 9 35
6 5 4 5 4 ]
44— 1 3— = | —— 44— 1 2— = | —
12 6 23 10 6 16
8 5 294 9 16 3
5 99— : 9— = —— 5 5— ¢ 22— = 2—
10 6 295 10 20 28
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